2x12mm

ﬂmm ...... l
2x15mm TP Screw
(o .......... 15

2x8mm TP Screw

BAG-D




2

2x10mm TP Screw

BAG-D

Page 9

4

2x10mm TP Screw

2

3x10mm TP Screw

1

GK4 mm Nut

-.unl

GM4SUS Washer

BAG-E

Installing Keel Parts




GMA4SUS Washer

w ..... 1

GZK4SUS Nut

e

7]

BAG-E

For neutral position ,the w
angle of the servo arm

must be in 90 direction

with the push rod .




Mast Assembly _ae E

119~120mm

2x10mm TP Screw Clevis 1.7x86mm RUD Clevis

AB-040

AB-036

? 200mm
50

Sail Hook B—-026

CT O e 2 =2
T‘%<10mm:>

240mm

s
o

a¥a¥a

\VAVAV

”‘ AB—(C25
@ //

2x10mm

o
>
@
Fr
&
340mm

4

.
395mm

2x10mm
AB-025

[f | 1 £
5
6x40mm Mast Joinner ™~ %
uy
<t
(I ha

1.7x86mm ROD Page 11

[T

I




1

1

Sail Batten

T%

Rough Ring&Sail Hook

@

IVIam & Jib Sail Assembly

@.-%

!\\ ANDERSON'S WORLDWIDE

@0 €

= I

130

10

100

ANDERSON'S WORLDWIDE




_() (j\:) Stay Hook C)

Nylon Rigging Line

Installing The Sails And Rigs

F.H

G.D

1200mm

1600mm

Page 13




Adjusting The Sail

Jilb Boom

Sail Winch Stick in "DOWN”®
and Trim Lever Down ———-—

Position

Sail Winch Stick in "UP” and
Trim Lever Up Position

Main Boom

1530mm




3 Setting Up And Sailing Theory Lee Helm

=
2
. . . i
Weather Helm Direction of Wind
ETurn Windward Direction of Wind
A
ﬁ Starboard
b =4
[F]
\\ BN Wind abeam Weather Helm Direction of Wind
- @, Turn Windward
5 R X "
- > h > v,
Lee Helm S J .
<. Starboard tack
A % Starboard Tack o
2,
ST TQuarterlee
/ S Tacking
Warning : Sailing Limit 5Sm/second.
1 Starboard tack/Running Warning : Sailing Limit 16.4ft/second.

# Port tack
Close-Hauled

Port tack/Running

Starboard tack

Close-Hauled
ore

e B ““‘e m

) Tacking

Port Tack Y
Port tack
Close-Hauled

Wind abeam

.....

...............

Preparations for sailing
1)Make sure that all sorews, Particularly grub screws. are tight.
2)Check that the Radic Control Batteries in the Transmitter and
Receiver have sufficient power.
) Adjust the Rudder Serve and/or trim, so that the KOKOMG
goes in a straight line when the transmitter stick is in the

center, ’
9p¢ BU" 4)Check that each sail line, inter lock, and fitting is properly
5 i instal led and adjusted.

Aokt WARNING ok
* SAILENG LIMIT WINDSPEED 5m/second. (16. 4ft/secend)
& * STAY AWAY FROM WATER FOWL.

Page 15




Kokomo 1000 Decais Layout
Decals layout

USA TEAM Decals Layout
Decals layout

Deck Decals layout

NZL. THAM.Decals fayout
Decals layout

AWDERSON '~

SUI THAM . Decal Layout
Decals layout




